# **MASSACHUSETTS - The Federal Tier of Funding**

# LWCF - Federal Side, 2004-2014 (Excluding Shared and Forest Legacy Projects):

(Data from federal appropriations records provided by Bruce Clendenning)

Year	Funds (Excluding FLP/Shared)	Agency	State	Project
2014	4 \$	0		
2013	3 \$	0		
2012	2 \$	0		
2013	1 \$	0		
2010	D \$	0		
2009	9 \$1,750,00	0 NPS	MA	Cape Cod National Seashore
2008	8 \$2,000,00	0 NPS	MA	Cape Cod National Seashore
2007	7 \$2,000,00	0 NPS	MA	Cape Cod National Seashore
2006	6 \$	0		
2005	5 \$575,00	0 FWS	MA	Massasoit NWR
2004	4 \$	0		

### Shared LWCF Projects Including MA: Silvio O. Conte NF&WR, 2004-2014

(Data from federal appropriations records provided by Bruce Clendenning)

Year	Shared By NH, VT, CT, and MA Agency	States	Project
2014	\$0		
2013	\$1,500,000 USFWS	CT, NH, VT, MA	Silvio O. Conte NF&WR
2012	\$6,489,600 USFWS	CT, NH, VT, MA	Silvio O. Conte NWR
2011	\$2,307,500 USFWS	CT, MA, NH, VT	Silvio O Conte NF&WR
2010	\$2,500,000 USFWS	CT, MA, NH, VT	Silvio Conte NWR
2009	\$3,815,000 USFWS	CT, MA, NH, VT	Silvio Conte NWR
2008	\$2,000,000 USFWS	CT, MA, NH, VT	Silvio Conte NWR
2007	\$0		
2006	\$650,000 FWS	NH,VT,CT,MA	Silvio O. Conte NF&WR
2005	\$0		
2004	\$750,000 USFWS	MA, NH, VT	Silvio O Conte NWR

\* There was an appropriation of \$1,000,000 for Silvio O. Conte NWR in 2005, but MA is not listed in the included states

#### Massachusetts Spending From Conte Refuge LWCF Funding, 2004-2014

(Data from Kim Lutz, The Nature Conservancy) Year Massachusetts' Share of Conte Refuge LWCF Funding 2014 \$0 2013 \$892,500 2012 \$1,345,000 2011 \$1,393,500 2010 \$0 \$2,100,000 2009 2008 \$1,990,000 2007 \$106,000 2006 \$1,140,000 2005 \$0 \$0 2004

# LWCF - State Side, 2000-2014 (Acquisition and Combination Projects Only)

LWCF stateside grant data from: http://waso-lwcf.ncrc.nps.gov/public/index.cfm ; 2013 & 2014 data from Joel Lynch at NPS Only projects after 1/1/2000 and of type "A" (acquisition) or "C" (combination) were included.

Year	Acquisition and Combination Projects (	All Project Categories	Portions of Funds Used for A/C Projects
2014	\$265,000	\$845,352	0.313478882
2013	\$0	\$0	
2012	\$0	\$0	
2011	\$ <b>0</b>	\$125,993	0.000
2010	\$500,000	\$2,050,000	0.244
2009	\$800,698	\$1,099,871	0.728
2008	\$0	\$0	
2007	\$720,971	\$720,971	1.000
2006	\$845,036	\$845,036	1.000
2005	\$1,396,261	\$1,739,211	0.803
2004	\$1,075,000	\$1,265,000	0.850
2003	\$1,689,000	\$4,620,576	0.366
2002	\$1,570,500	\$1,570,500	1.000
2001	\$647,500	\$647,500	1.000
2000	\$697,500	\$697,500	1.000

# Forest Legacy Program, 2004-2014

(Data from federal appropriations records provided by Bruce Clendenning)

Year	Total	
2014		\$1,865,000
2013		\$5,135,000
2012		\$0
2011		\$5,000,000
2010		\$1,365,000
2009		\$3,600,000
2008		\$0
2007		\$2,500,000
2006		\$2,500,000
2005		\$775,000
2004		\$1,627,000

## Community Forest Program, 2012-2014

(Data from U.S. Forest Service: http://www.fs.fed.us/news/releases/us-forest-service-announces-support-community-forests )YearAmountAgencyStateProject2014\$313,950USFSMAPlimpton Community Forest

# North American Wetlands Conservation Act, 2004-2014

All data from US F&WS: http://www.fws.gov/birdhabitat/Grants/NAWCA/Standard/US/Connecticut\_Std.shtm

Year	<u>MA Total</u>	
2014	\$0	
2013	\$0	
2012	\$0	
2011	\$4,384,481	
2010	\$0	
2009	\$1,689,600	
2008	\$0	(A \$1,000,000 grant was awarded to CT/MA, but spent entirely in CT)
2007	\$2,100,000	
2006	\$2,000,000	
2005	\$2,285,000	
2004	\$0	

### Migratory Bird Conservation Fund, 2004-2014

Data for 2004-2012 from: https://www.fws.gov/refuges/realty/archives.html 2013 data from: http://www.fws.gov/refuges/realty/pdf/MBCC\_2013.pdf 2014 data from: http://www.fws.gov/migratorybirds/pdf/get-involved/MBCC\_2014.pdf

Only one year with funding from 2004-2014: \$496,634 in 2008.

### **Cooperative Endangered Species Conservation Fund, 2004-2014**

All data from U.S. Fish & Wildlife Service

Reports of awards for each year can be found here: http://www.fws.gov/endangered/esa-library/index.html#grants Fund is used for both acquisition and planning projects; only acquisition projects are listed here.

There were no CESCF funds spent on acquisition in Massachusetts from 2004-2014.

#### Coastal and Estuarine Land Conservation Program, 2004-2014 (administered by NOAA)

All data from Jennifer Plowden at TPL

Year		<b>Conservation Funds Spent</b>	
	2014		\$0
	2013		\$0
	2012		\$0
	2011		\$0
	2010		\$1,986,750
	2009		\$2,000,000
	2008		\$233,962
	2007		\$0
	2006		\$0
	2005		\$292,947
	2004		\$0

## National Coastal Wetlands Conservation Grant Progam, 2004-2014

Data from Shelley Dibona at the U.S. Fish & Wildlife Service

Includes funds spent on land acquisitions (fee title or easement); note that these are transactions completed, not grants awarded.

Year	ar Funds Spent Through Completed Transaction		
2014	\$0		
2013	\$0		
2012	\$0		
2011	\$353,500		
2010	\$30,303		
2009	\$58,620		
2008	\$61,864		
2007	\$217,741		
2006	\$76,908		
2005	\$520,000		
2004	\$1,643,000		

# Wildlife Restoration Program, 2004-2014 (aka Pittman-Robertson)

Data from Shelley Dibona at the U.S. Fish & Wildlife Service

Funds for this program are often spent on hunter education, habitat enhancement, etc. We asked specifically for land protection projects. Includes funds spent on land acquisitions (fee title or easement); note that these are transactions completed, not grants awarded.

Year	Funds Spent Through Completed Transactions
------	--

	•	0 1		
2014		( )	\$1,080,019	
2013		( 1	\$1,712,250	
2012			\$629,250	
2011		( 1	\$1,947,000	
2010		( 1	\$2,666,700	
2009		( 1	\$2,818,194	
2008		( )	\$1,977,813	
2007			\$0	
2006		( 1	\$2,842,507	
2005		( )	\$1,075,327	
2004			\$0	

# TOTAL FEDERAL FUNDING FOR MASSACHUSETTS

(NOT counting NRCS programs because we do not have the data for the full range of years)

Year	MA LWCF Federal		MA LWCF Share of Conte	MA LWCF Stateside (A/C	MA FLP	MA CFP	MA NAWCA
	2014	\$0	\$0	\$265,000	\$1,865,000	\$313,950	\$0
	2013	\$0	\$892,500	\$0	\$5,135,000	\$0	\$0
	2012	\$0	\$1,345,000	\$0	\$0	\$0	\$0
	2011	\$0	\$1,393,500	\$0	\$5,000,000		\$4,384,481
	2010	\$0	\$0	\$500,000	\$1,365,000		\$0
	2009	\$1,750,000	\$2,100,000	\$800,698	\$3,600,000		\$1,689,600
	2008	\$2,000,000	\$1,990,000	\$0	\$0		\$0
	2007	\$2,000,000	\$106,000	\$720,971	\$2,500,000		\$2,100,000
	2006	\$0	\$1,140,000	\$845,036	\$2,500,000		\$2,000,000
	2005	\$575,000	\$0	\$1,396,261	\$775,000		\$2,285,000
	2004	\$0	\$0	\$1,075,000	\$1,627,000		\$0

Year MA MBCF	MA CESCF	CELCP	Ν	CWCGP	WRP (PR)
2014	\$0	\$0	\$0	\$0	\$1,080,019
2013	\$0	\$0	\$0	\$0	\$1,712,250
2012	\$0	\$0	\$0	\$0	\$629,250
2011	\$0	\$0	\$0	\$353,500	\$1,947,000
2010	\$0	\$0	\$1,986,750	\$30,303	\$2,666,700
2009	\$0	\$0	\$2,000,000	\$58,620	\$2,818,194
2008	\$496,634	\$0	\$233,962	\$61,864	\$1,977,813
2007	\$0	\$0	\$0	\$217,741	\$0
2006	\$0	\$0	\$0	\$76,908	\$2,842,507
2005	\$0	\$0	\$292,947	\$520,000	\$1,075,327
2004	\$0	\$0	\$0	\$1,643,000	\$0

Year	MA FEDERAL TOTAL	
2014		\$3,523,969
2013		\$7,739,750
2012		\$1,974,250
2011		\$13,078,481
2010		\$6,548,753
2009		\$14,817,112
2008		\$6,760,273
2007		\$7,644,712
2006		\$9,404,451
2005		\$6,919,535
2004		\$4,345,000